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For Exercises 4-6, AMPS|= AWHC) Complete each statement.
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For Exercises 7-9, AWUN = ATRE.
7. Find the value of x.
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Find the value of x and y given the trianges are congurent
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A

Given: TP L A4S, AP = SP

Prove: AATP = ASTP
statements : ré)asons

. TP L AS, AP = SP I
. <ATP and <STP are right angles 2.
. AATP and ASTP are right triangles 3.
TP = TP 4

. AATP = ASTP 5.



Given: mZ XYW = (5x+25°; LM =2y+5; mZKML = 100°; XY = 13
a. Find the value of x.

b. Find the value of y. S x4285= /100
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Use the figure below in which AABC

angle measure.
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ADEF. Find the given length or



The measure of CG is 4. What is the perimeter of AAfC"
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12.  Given: <D and <B are right angles, AD = CB

Prove: AABC = ACDA

statements . e reasons
1. <D and <B are right angles, AD = CB 1.
2. AABC and ACDA are right triangles 2.
3 3.

4. AABC = ACDA 4.



The measure of each of the congruent angles of an isosceles triangle is
6 degrees less than the the measure of the vertex angle. Find the measure
of each angle of the triangle.
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The measure of the vertex angle is an isosceles triangle is 15
degrees more than the measure of each base angle. Find
the measure of each angle of the triangle.
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